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11. Which of the two vowels above has a higher pitch, I or II: K
Briefly explain how you knew 4.4 ReadFrequency
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E. The speed of sound in helium is much faster than the speed of sound in regular air. If a person
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Name‘_ Week 6 quiz

A. Define the symbol—use the correct order: phonation place manner

1.1 DefineSymbol
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B. Give the symbol that fits the definition
S8 p\rﬁeék)-voiced alveolar trill: [ ' ]
V6. voiceless palatal ejective stop: [i¥e

V7. voiceless dental lateral approximant : [ ( ]

1.2 GiveSymbol
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4.1 SegmentSpectro
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Cols, Segment this Tongan word, [palasiuti] (means ‘parachute’)—and label the s?gments with [PA
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and label the segments with IPA
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